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1. – 18. sorularda, cümlede boş bırakılan yer-
lere uygun düşen sözcük ya da ifadeyi bulu-
nuz. 

1. Foreshadowing is an established literary ---- that 
adds layers of meaning to events or details in 
films and literary works. 

A) reference  B) indication 

C) device  D) deception 

 E) appreciation 

 

 

 

 

 

 

2. Due to its geographical position, ---- historical 
heritage, and strategic importance, Strasbourg 
was chosen as a seat for various European 
institutions. 

A) familiar  B) rich 

C) fluent  D) elective 

 E) subsequent 

 

 

 

 

 

 

3. The endlessly flat landscape and thousands of 
miles of well-maintained cycle tracks make 
cycling an ---- popular activity in the Netherlands. 

A) additionally  B) effectively 

C) ultimately  D) extremely 

 E) accurately 

 

 

 

4. The search for truth ---- rational guidelines, and, 
though some of our subjects may lie on the outer 
limits of scientific research, we examine them 
through science’s lens. 

A) demands  B) relates 

C) reaches  D) orders 

 E) establishes 

 

 

 

 

 

 

 

 

5. The term “geography” ---- the English language in 
the 16th century from Latin and ultimately Greek, 
at the time when European navigators were 
beginning to explore Africa and the New World. 

A) broke into  B) turned out 

C) carried away  D) went on 

 E) came into 

 

 

 

 

 

 

6. If this business goes on in such an awful way, it 
will ---- hundreds of unemployed. 

A) do without  B) hang around with 

C) end up with  D) go up against 

 E) make out for 
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7. Although there ---- some growth in the non-oil 
sector, Nigeria ---- dangerously reliant on 
hydrocarbon revenues. 

A) has been / remains 

B) had been / would remain 

C) was / would have remained 

D) must be / has remained 

E) is / had remained 

 

 

 

 

 

8. In 1972, two collective burials ---- under an 
overhanging rock at Qilakitsoq, a small Inuit 
settlement on the west coast of Greenland, ---- to 
about A.D. 1475. 

A) are discovered / dated 

B) were discovered / dating 

C) have been discovered / having dated 

D) had been discovered / having been dated 

E) were being discovered / having to be dated 

 

 

 

 

 

 

9. In 1989, Jennifer Johnson of Sanford, Florida, ---- 
the first woman ---- of transferring cocaine to her 
unborn baby through the umbilical cord. 

A) was becoming / having been convicted 

B) has become / to convict 

C) would become / to be convicting 

D) became / to be convicted 

E) had become / convicting 

 

 

 

10. Smoking ---- in almost all segments of the 
American population, so that, in various polls, 60 
to 65% of Americans ---- non-smokers today. 

A) declines / may have been 

B) has declined / are 

C) had declined / would be 

D) could have declined / will be 

E) declined / were 

 

 

 

 

 

11. If a new environmental or safety rule ---- in the 
auto industry, executives warn that the company 
---- money. 

A) were to be proposed / had lost 

B) had been proposed / would have lost 

C) will be proposed / is going to lose 

D) were proposed / should lose 

E) is proposed / will lose 

 

 

 

 

 

 

 

12. Tibetan monks, who are experts ---- meditation, 
rid themselves of negativity ---- augmenting the 
brain’s gamma waves, which can be measured in 
a lab. 

A) of / from  B) on / about 

C) for / through  D) in / by 

 E) at / towards 
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13. One can see ---- a glance why small children are 
immediately attracted ---- these noisy, colourful 
toys. 

A) at / to  B) in / by 

C) with / for  D) by / with 

 E) of / to 

 

 

 

 

 

 

 

 

14. Children can benefit from their experiences ---- 
they retain information from these experiences 
over time. 

A) that  B) even though 

C) so long as  D) so 

  E) while 

 

 

 

 

 

 

 

 

15. ---- fiction gives something more than pleasure, it 
hardly justifies itself as a subject of study. 

A) Because  B) Unless 

C) When  D) If 

 E) After 

 

 

 

 

 

16. ---- the average education level of the women in 
the United States is higher than that of their male 
counterparts, they are highly concentrated in 
underpaid and menial jobs. 

A) Although  B) Now that 

C) Until  D) As if 

 E) In case 

 

 

 

 

 

 

 

17. Despite the passage of a decade since its 
opening, the Maritime Museum in Istanbul 
remains undeservedly little-known today ---- a 
lack of publicity. 

A) instead of  B) in spite of 

C) contrary to  D) as to 

 E) owing to 

 

 

 

 

 

 

18. ---- in France, where it was a pleasure strictly 
limited to the aristocracy, in the British Isles 
drinking chocolate was made available to the 
middle classes from the outset. 

A) Except  B) Rather 

C) Unlike  D) Just as 

 E) Besides 
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19. – 23. sorularda, aşağıdaki parçada numa-
ralanmış yerlere uygun düşen sözcük ya da 
ifadeyi bulunuz. 

Statutes are usually framed in more or less general 
terms, and, in order to apply these general terms to 
particular cases, interpretation becomes necessary. 
(19) ---- the famous Byzantine Emperor Justinian but 
also the framers of the Prussian and Napoleonic 
Codes (20) ---- to take away this power of 
interpretation from the judiciary. But these efforts and 
similar ones all failed because interpretation is      
(21) ---- whenever a written formula has to be applied 
to a particular case. When interpreting the meaning 
of a legal rule, the judge must first discover the true 
facts of the case before him, and secondly, he must 
find out (22) ---- the legislator intended him to do   
(23) ---- the existing circumstances. 

 

19.  

A) Not only B) Even if C) The more 

 D) Both  E) As 

 

20.  

A) may have attempted 

B) attempted 

C) are attempting 

D) have been attempting 

E) could have been attempted 

 

21.  

A) influential  B) incomparable 

C) impressive  D) plausible 

E) unavoidable 

 

22.  

A) that  B) which  C) why 

 D) what  E) whoever 

 

23.  

A) after  B) towards C) on 

 D) over  E) under 

 

24. – 35. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz. 

24. ----, but he had a reputation for blurring the line 
between fact and fiction. 

A) In the early twentieth century, some Americans 
were still hunting whales much as they had in 
Herman Melville’s day 

B) For “Moby-Dick”, Herman Melville drew on 
scientific, historical, and journalistic accounts of 
whales 

C) Once a whale washed ashore, it was bound to 
end up as someone’s property 

D) Whales entered early American law through the 
question of who owned them when 

E) There is no shortage of whaling histories for a 
Melville aficionado to turn to 

 

 

 

 

 

 

 

 

 

25. Whenever attitude researchers ask participants 
questions, ----. 

A) researchers would have probably needed to 
demonstrate that the scientific benefits of the 
research outweighed the possible ethical costs 

B) this is especially so when a person’s attitude 
runs counter to a prevailing norm 

C) researchers have devised several techniques to 
overcome such problems 

D) the techniques often raised questions about 
research ethics, especially if participants did not 
know their attitudes were being measured 

E) there is the possibility that participants will be 
reluctant to reveal their true feelings 

 

 

 

 



 
A 

 
SOSYAL BİLİMLER 

Diğer sayfaya geçiniz. 
  

 39 

26. Thanks to the popularity of nature documentaries 
on TV, ----. 

A) many observers have noted high biological 
productivity around seamounts and islands 

B) biologists know much less about the migration of 
marine species 

C) the healthy populations of pelagic fish are in a 
worldwide decline because of over-harvesting 

D) there has been an increase of environmental 
awareness among people from all walks of life 

E) in Africa every year, hundreds of thousands of 
wildebeests and zebras leave their traditional 
habitats to avoid the dry season 

 

 

 

 

 

 

 

 

 

27. ----, whose drums marked the hours of the 
emperor’s day. 

A) Most Chinese emperors in the past led a 
prosperous life 

B) In Beijing, during imperial times, no structure 
was permitted to be taller than the Drum Tower 

C) The female members of the imperial family in 
China were not allowed to take an interest in the 
affairs of the State 

D) Of the numerous gardens within the Forbidden 
City, the Imperial Garden is the most accessible 

E) The Forbidden City in modern Beijing has been 
extensively renovated and, thus, made more 
attractive for visitors 

 

 

 

 

 

 

 

28. If teamwork were taught along with reading, 
writing and mathematics, ----. 

A) some of the research in this area would centre 
on bad behaviours that degrade a team’s 
performance 

B) it is only after a great tragedy or triumph that the 
importance of teamwork is drawn into the 
spotlight 

C) there would be enormous benefits to students 
and society alike 

D) a crucial question that should be asked before 
putting a team together is whether you need one 
at all 

E) a successful team would deal with its members 
who do not contribute anything to the group 

 

 

 

 

 

 

 

 

29. As most businesses in Southeast Asia have 
remained as family enterprises and not attained a 
global dimension, ----. 

A) in the wake of the 1997 financial crisis, 
Southeast Asia had been overtaken by China 
and India 

B) some are being left behind by foreign businesses 

C) across Southeast Asia, the impact of the 1997 
crisis was closely related with the degree of 
corruption in the banking system 

D) today, South Korea and Taiwan are four times 
richer than Malaysia and ten times richer than 
Indonesia 

E) compared with other regions of the world, Asia’s 
income gap is slowly decreasing 
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30. In a recently published paper, it is pointed out 
that China has produced much of the world’s rice 
for many decades, ----. 

A) but in these rice paddies, nitrogen-based 
fertilizer has, to a large extent, replaced animal 
manure 

B) so it is another change in agricultural practice 
that has the unintended side benefit of reducing 
methane emissions 

C) what is more, these rice farmers are using less 
water than they did before 

D) yet for the past 30 years, the area devoted to 
rice agriculture there has fallen from about 37 
million hectares to about 27 million 

E) and this change in how rice is grown in China 
reduces the amount of methane given off 

 

 

 

 

 

 

 

 

 

 

31. One of the first questions the archaeologist must 
face ---- is to decide the cause of death. 

A) since the area has been explored for remains 

B) whatever happens to bones between the time 
they are deposited and dug up 

C) on which a great deal of work is currently 
focussed 

D) even though few scholars went further than 
labelling animals as either wild or domestic 

E) when he or she is interpreting animal remains 

 

 

 

 

 

32. In 1993, the philanthropist Henry Buhl bought a 
rare gelatin-silver print of a Stieglitz photograph 
of Georgia O’Keeffe’s hands, ----. 

A) which was the beginning of a collection he 
continued to amass over the years 

B) if he would have had over a thousand images of 
hands 

C) so the Guggenheim is exhibiting more than a 
hundred and seventy of them 

D) when it is an interesting way to contemplate the 
history of photography, among other things 

E) and they include a shot by Robert Capa and a 
portrait of Nusch Eluard by Dora Maar 

 

 

 

 

 

 

 

 

 

 

 

33. Muğla has always preserved its traditional 
cultural fabric, ----. 

A) if you’d like to take a journey through its history 

B) yet it constitutes a unique model for Turkish 
traditional architecture 

C) although the luxury tourist centres that surround 
it have not 

D) so it has links to resort towns such as Bodrum, 
Köyceğiz, and Marmaris 

E) because it started to urbanize rapidly with the 
founding of Muğla University 
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34. Hierapolis was a famous spa in Roman times ----. 

A) since the founder of the city was the emperor 
Antiochus ll of the Seleucid dynasty 

B) when it was founded in the second quarter of the 
3rd century B.C. 

C) because the only shrines that remain today are a 
temple of Apollo and the cave-sanctuary of Pluto 

D) just as Pamukkale is today 

E) even if these date from the Hellenistic period 

 

 

 

 

 

 

 

 

 

 

 

35. In the 1950s, particularly in the Unites States, 
logistics as a business concept began to gain 
ground ----. 

A) whereas the need for expert logisticians became 
imperative 

B) that it was a branch of military science 

C) because businesses expanded and reached out 
both to far-flung markets and sources of 
materials, creating complex supply chains 

D) when the world of commerce as we know it 
today would have been impossible without the 
logistics industry 

E) in that logistics companies have become more 
sophisticated with today’s increasing 
globalisation 

 

 

 

 

 

 

36. – 38. sorularda, verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz. 

36. Due to high fertility and the high number of young 
people in the population, the proportion of 
adolescents in the total global population is likely 
to increase in the coming years. 

A) Doğurganlık oranı ve genç nüfusun sayısı dikka-
te alındığında, ergenlerin toplam küresel nüfus i-
çindeki oranının önümüzdeki yıllarda artma ola-
sılığı oldukça yüksektir. 

B) Yüksek doğurganlık ve nüfus içindeki gençlerin 
yüksek sayısı nedeniyle, toplam küresel nüfusta 
ergenlerin oranı, gelecek yıllarda muhtemelen 
artacaktır. 

C) Ergenlerin toplam küresel nüfus içindeki oranının 
önümüzdeki yıllarda artması, yüksek doğurgan-
lığa ve nüfus içindeki genç sayısının yükselme-
sine bağlıdır. 

D) Yüksek doğurganlığın ve nüfustaki gençlerin 
yüksek sayısının sonucu olarak, gelecek yıllarda, 
toplam küresel nüfus içinde ergen oranı giderek 
yükselecektir. 

E) Yüksek doğurganlığa ve genç nüfusun artışına 
bağlı olarak, yetişkinlerin toplam küresel nüfus 
içindeki oranı, gelecek yıllarda kademeli bir şe-
kilde yükselecektir. 

 

 

 

 

37. It has been estimated that the number of tourists 
visiting China will grow by the end of this decade 
to about 50 million. 

A) On yıl sonra, Çin’i ziyaret eden turist sayısında 
meydana gelecek artışın 50 milyonun üstünde 
olacağı hesaplanmaktadır. 

B) Önümüzdeki on yılın içinde, Çin’i ziyaret eden 
turist sayısındaki artışın aşağı yukarı 50 milyon 
olacağı tahmin ediliyor. 

C) Tahmin edileceği gibi, bu on yılın sonunda, Çin’i 
ziyaret eden turist sayısı artarak yaklaşık 50 mil-
yonu bulacaktır. 

D) Çin’i ziyaret eden turist sayısındaki artışın 50 
milyona ulaşmasının yaklaşık on yılı bulacağı 
tahmin ediliyor. 

E) Çin’i ziyaret eden turist sayısının bu on yılın so-
nuna kadar yaklaşık 50 milyona yükseleceği tah-
min edilmektedir. 
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38. All oil-producing African countries have agreed in 
principle to set aside a certain percentage of the 
revenues they earn from oil exports in order to 
establish a common investment fund. 

A) Petrol ihracatından sağladıkları gelirlerin belirli 
bir yüzdesini ayırarak ortak yatırım fonu kurmayı 
amaçlayan tüm petrol üreten Afrika ülkeleri ilke 
anlaşmasına varmışlardır. 

B) Ortak bir yatırım fonu oluşturmak için, petrol üre-
ten Afrika ülkelerinin tümü, ilke olarak, petrol ih-
racatından sağladıkları gelirlerle belirli bir oranda 
katkı yapma konusunda anlaşmaya varmışlardır. 

C) Belirli bir oranın üzerinde petrol üreten Afrika ül-
keleri, petrol ihracatından elde edilen gelirlerle 
ortak yatırım fonu oluşturmak için ilke anlaşması-
na varmış bulunuyorlar. 

D) Petrol üreten tüm Afrika ülkeleri, ortak bir yatırım 
fonu kurmak amacıyla, petrol ihracatından elde 
ettikleri gelirlerin belirli bir yüzdesini ayırmak için 
ilke olarak anlaşmışlardır. 

E) Petrol üreten Afrika ülkelerinin tümü, petrol ihra-
catından elde ettikleri gelirlerin belirli bir yüzdesi-
ni ayırarak ortak bir yatırım fonu oluşturma ilke-
sinde de anlaştılar. 

 

 

 

 

39. – 41. sorularda, verilen Türkçe cümleye 
anlamca en yakın İngilizce cümleyi bulunuz. 

39. 930’dan Norveç’le birleştiği 1262’ye kadar bağım-
sız bir cumhuriyet olan İzlanda, bağımsızlığını 
1944 yılında geri kazandı. 

A) Though an independent republic since 930, 
Iceland was taken over by Norway in 1262 and 
only regained its independence in 1944. 

B) Iceland, annexed by Norway in 1262, had been an 
independent republic since 930, and became 
independent again only in 1944. 

C) Iceland had been an independent republic 
between 930 and 1262 when it was invaded by 
Norway, becoming a republic again in 1944. 

D) Before it united with Norway in 1262, Iceland had, 
as it is today and has been since 1944, been an 
independent republic since 930. 

E) Iceland, which was an independent republic from 
930 to 1262 when it joined with Norway, regained 
its independence in 1944. 

 

40. İspanya’da on dokuzuncu yüzyıl sonları, yaygın 
siyasal yolsuzluklara bir tepki olarak gelişen a-
narşizmle birlikte ulusal bir çöküş dönemiydi. 

A) The later decades of the nineteenth century in 
Spain were a period of national decline as well 
as anarchism, which emerged as a reaction 
against extensive political malpractice. 

B) The late nineteenth century in Spain was a 
period of national decline, along with anarchism 
developing as a response to widespread political 
corruption. 

C) As a response to extreme political decadence, 
anarchism developed in Spain in the late 
nineteenth century, which was a period of 
national decline. 

D) Anarchism in Spain came into being in the late 
nineteenth century, also known as a period of 
national decline, as a response to widespread 
corruption in politics. 

E) The end of the late nineteenth century in Spain 
marked a period of national decline, which was 
also noted for anarchism developing as a 
struggle against extreme political corruption. 

 

 

 

 

41. Öteki Avrupalılara kıyasla, Almanların daha uzun 
yıllık tatilleri olduğu ve yurt dışı gezilere daha çok 
para harcadıkları bir gerçektir. 

A) It is true that, compared with other Europeans, 
the Germans have longer annual holidays and 
spend more money on foreign travel. 

B) It is admitted that, comparatively, the Germans 
enjoy longer annual holidays than other 
Europeans and save a lot of money for their 
foreign travels. 

C) The fact that, unlike other Europeans, the 
Germans are entitled to longer holidays each 
year and put aside more money for their travels 
abroad is undeniable. 

D) Truly, contrary to other Europeans, the German 
people tend to have longer annual holidays and 
are prepared to spend more money on their 
travels abroad. 

E) When the Germans are compared with other 
Europeans, it is clear that their annual holidays 
are longer and the money they spend for their 
travels abroad is much more. 
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42. – 46. sorularda, boş bırakılan yere, parça-
da anlam bütünlüğünü sağlamak için getirile-
bilecek cümleyi bulunuz. 

42. Unlike wine, whisky does not change after it has 
been bottled. ----. The first rule to respect is to 
keep whisky bottles upright so that the alcohol is 
not in contact with the cork. It should also be 
kept away from all sources of heat in order to 
avoid drying out the cork, which would allow air 
to get into the bottle. 

A) Keeping a young whisky in a bottle and putting 
an old whisky in a decanter combines aesthetic 
pleasure with the joy of tasting 

B) One question which is often asked, and over 
which whisky lovers are divided, concerns 
whether or not to use a decanter 

C) However, it is advisable to take some 
precautions to assure its longevity 

D) The Classic Malts Collection owes its 
considerable success since its launch in 1988 as 
much to the quality of the whisky as to the 
excellent design of the six bottles that make up 
the range 

E) Marketing and design have revolutionized the 
whisky industry, especially the manufacture of 
containers 

 

 

43. The scientific study of facial expression has 
largely focused on the way in which facial 
expressions communicate emotions. ----. In fact, 
subsequent research generally identified six 
basic emotions (happiness, surprise, sadness, 
fear, disgust and anger) and their related facial 
expressions, from which more complex or 
blended emotions are derived. 

A) In this respect, Darwin suggested that there are 
only a small number of universal emotions and 
that these are associated with universal facial 
expressions 

B) Similarly, tears are an acceptable display of 
sadness at a funeral but not on hearing 
disappointing news in a business setting 

C) These rules exist because of the important 
communicative function of facial expressions 

D) People from a variety of Western, Asian and 
tribal cultures were remarkably accurate in 
identifying the six emotions 

E) For instance, the expression of emotion is 
encouraged for women in Mediterranean 
cultures but is discouraged for men in northern 
European and Asian cultures 

 

44. Photo interpretation in archaeology is the 
process by which features photographed from 
the air, such as soil-marks, are analyzed in order 
to deduce the types of archaeological structures 
causing them. ----. Such plans may guide 
excavation to key points in a structure, place 
field-collected data in context, or themselves be 
used as the starting point for new research. 

A) Archaeologists may use aircraft to search the 
ground for traces of former sites in the landscape 

B) Given that the visibility of features varies from 
year to year, photos taken over several years 
need to be studied to compile an accurate plan 

C) The aerial photograph also highlights an 
interesting earlier feature: a shallow Neolithic 
ditch running across the middle of the fort 

D) Soil marks may reveal the presence of varied 
ditches, banks or foundations 

E) Those who take and use aerial photographs 
must understand the means by which the 
evidence is made visible in order to determine 
the type of feature that has been recorded 

 

 

 

 

45. Near-death experiences are relatively stereotyped 
in format. ----. They often describe sensations like 
“floating” or “flying”. These experiences can also 
cause fear or a feeling of detachment, but they 
are usually described as intensely “real” – not at 
all like a dream or a hallucination. 

A) People who have had such experiences say that 
they seemed to be no longer in their own body 
but outside it, looking down on themselves from 
two or three metres above 

B) Survivors of these experiences may, weeks later, 
experience a surge of emotionality, as if 
emotions of every sort were being stimulated or 
released 

C) Sometimes, near-death experiences are followed 
by a sudden onset of musical or artistic interest 

D) Tony Cicoria reported seeing a bluish-white light 
that surrounded him and having a sense of 
ecstacy 

E) Similar near-death experiences have often been 
described by people who have been, or believed 
themselves to be, in great danger 
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46. Adults who abuse children were almost always 
abused themselves, but not all people who were 
abused during childhood become abusers. ----. 
However, children who do not form such 
relationships are at high risk to become abusers 
themselves. 

A) Biological fathers are much more likely than 
mothers to abuse their children 

B) These children often grow to adulthood 
displaying aggressive behaviours, lacking the 
ability to adequately express emotions, and 
having inadequate cognitive and problem-solving 
skills 

C) Older children and adolescents are even more 
likely to be witnesses and victims of such 
violence 

D) Many have experiences that compensate for the 
abuse, forming relationships that allow them to 
feel valued and safe in some ways and grow up 
to become good parents 

E) School-age children and adolescents who are 
abused may exhibit symptoms of 
psychopathology or behaviour disorders 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

47. – 51. sorularda, karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz. 

47. Steve : 
- It’s clear that, during his time in office, former 

US President John F. Kennedy inspired many 
people to enter public service. 

 
Gary : 
- ---- 
 
Steve : 
- Actually, some people think that his extra-

marital affairs and his elegant style made him 
more interesting, so that people wanted to 
follow his call to serve their country. 

 
Gary : 
- You may be right about that. 

A) What about his contribution to American civil 
rights? 

B) I’ve read he was a near-professional level golfer, 
but didn’t want the public to know it. 

C) I think the public loved his wife Jackie as much 
as the president himself, didn’t they? 

D) There’s no strong evidence that he was 
assassinated as the result of a conspiracy. 

E) But what about his reputation as a wealthy 
womanizer? Didn’t that work against him? 
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48. Geri : 
- Did you know that there’s a new kind of test that 

shows us our true ideas about certain topics? 
 
Alfred : 
- ---- 
 
Geri : 
- It’s more than that; this test can show us 

opinions and prejudices that we didn’t even 
know we had! 

 
Alfred : 
- Well, it sounds interesting. Where did you find 

this test? 

A) What’s the test called? 

B) Oh, you mean like a personality test? 

C) How do you know that the test is reliable? 

D) Have you taken the test yet? What were the 
results like? 

E) You’re really interested in this kind of thing, 
aren’t you? 

 

 

49. Della : 
- Did you know that Eugene O’Neill was the son 

of a Shakespearean actor? 
 
Hector : 
- ---- 
 
Della : 
- That’s right. Instead, he started acting in plays 

where he could make more money, and Eugene 
spent his first seven years travelling with him 
while he was acting in such a play. 

 
Hector : 
- I suppose that had an effect on the plays that 

Eugene O’Neill would write in the future. 

A) No, I didn’t. Did Eugene O’Neill act as well? 

B) And he had a long and distinguished 
Shakespearean career. 

C) Didn’t he have a brother who died at the age of 
two? 

D) Yes, but didn’t his father give up acting 
Shakespeare? 

E) He won the Pulitzer Prize a year after his death, 
for Long Day’s Journey into Night. 

 

 

 

50. Marian : 
- Do you remember China’s “one child” policy, 

where each family was allowed to produce only 
one child in order to reduce the country’s 
population? 

 
Helen : 
- Yes, of course I do. The policy has created a 

huge imbalance in the male-to-female 
population ratio, due to the fact that many 
couples abort their female foetuses. 

 
Marian : 
- ---- 
 
Helen : 
- It did, but only recently, and many couples are 

still doing it even though it’s against the law. 

A) I think that abortion should be allowed only in 
medical emergencies. 

B) How can they bring themselves to do that? 

C) Why don’t they want to have a girl? 

D) Didn’t the couples think before deciding to have 
a child? 

E) But I thought the Chinese government made 
abortion illegal. 

 

 

 

51. Geneveive : 
- Did you know that nuclear weapons are 

regularly transported by truck to inspection 
facilities in the US and the UK? 

 
Carl : 
- ---- 
 
Geneveive : 
- Yes; it’s extremely dangerous. If there were a 

traffic accident and some of the weapons were 
to explode, many people would die. 

 
Carl : 
- I suppose the trucks would also be a target for 

terrorist attacks, wouldn’t they? 

A) Isn’t that a bit risky? 

B) Why do they do that? 

C) What is your opinion of this practice? 

D) I don’t support the idea of nuclear weapons, 
anyway. 

E) Can’t the weapons inspectors travel instead of 
transporting the weapons? 
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52. – 56. sorularda, cümleler sırasıyla okun-
duğunda parçanın anlam bütünlüğünü bozan 
cümleyi bulunuz. 

52. (I) Why do people pursue self-esteem? (II) Most 
people would answer that having self-esteem makes 
you feel good. (III) They found that participants who 
had their self-esteem raised had lower psychological 
arousal and reported less anxiety. (IV) There is 
probably a grain of truth here, but on the other hand, 
there are causality issues to be addressed. (V) So 
actually, rather than self-esteem producing 
happiness, feeling happy may inflate self-esteem. 

A) I B) II C) III D) IV E) V 

 

 

 

53. (I) A longstanding issue in European prehistory is that 
of the so-called megalithic monuments. (II) Similarly, 
in the 19th century, megaliths were seen as the work 
of a single group of people, who had migrated to 
western Europe. (III) These are impressive 
prehistoric structures built of large stones. (IV) In 
general, the stones are arranged to form a single 
chamber, buried under a mound of earth and entered 
from one side, and the chambers may be large with a 
long entrance passage. (V) Human remains and 
artifacts are usually found within these structures, 
and it is clear that most served as collective burial 
chambers, i.e., tombs for several people. 

A) I B) II C) III D) IV  E) V 

 

 

 

54. (I) Why is it important for engineering students to 
study engineering ethics? (II) Several notorious 
cases that have received a great deal of media 
attention in the past few years have led engineers to 
gain an increased sense of their professional 
responsibilities. (III) Most engineers are, on the 
whole, motivated by the size and social impact of 
their projects. (IV) These cases have led to an 
awareness of the importance of ethics within the 
engineering profession as engineers realize how their 
technical work has far-reaching impacts on society. 
(V) Indeed, the work of engineers has always 
affected public health and safety and influenced 
business practices and even politics in society. 

A) I B) II C) III D) IV  E) V 

 

 

 

 

55. (I) Good reading involves criticism, for choice 
necessitates judgement. (II) In a good story every 
element works with every other element for the 
accomplishment of the central purpose. (III) Yet there 
are no easy rules for literary judgement. (IV) Such 
judgement depends ultimately on our perceptivity, 
intelligence, and experience. (V) It is a product of 
how much and how alertly we have lived and how 
much and how well we have read. 

A) I B) II C) III D) IV E) V 

 

 

 

 

 

 

 

 

 

 

56. (I) In the film Amistad, Steven Spielberg expresses 
his outrage at the institution of slavery. (II) That is, he 
makes something that enables the film audience to 
feel the same kind of outrage toward slavery that he 
feels. (III) Clearly, the artist at the start felt deeply 
about slavery. (IV) He then set out to give to his 
audience a similar feeling. (V) On the contrary, these 
configurations stimulate differing emotional states in 
the audience. 

A) I B) II C) III D) IV  E) V 
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57. – 60. soruları aşağıdaki parçaya göre 
cevaplayınız. 

We commonly speak of both law and laws, and these 
terms, though not used with precision, point to two 
different aspects under which legal science may be 
approached. The laws of a country are thought of as 
separate, distinct, individual rules; the law of a 
country, however much we may analyse it into 
separate rules, is something more than the mere sum 
of such rules. It is, rather, a whole, a system which 
orders our conduct and in which the separate rules 
have their place and their relation to each other and 
to the whole. Moreover, it is never completely 
exhausted by any analysis, however far the analysis 
may be pushed, and however much the analysis may 
be necessary to our understanding of the whole. 
Thus, each rule which we call a law is part of the 
whole we call the law. Lawyers generally speak of 
law; laymen more often of laws. 

 

 

 

 

 

57. It is pointed out in the passage that, in legal 
science, the term “law” ----. 

A) is very ambiguous and cannot be clearly defined 
due to the variety of meanings it has 

B) signifies a whole which, as a system, embodies 
all the separate rules referred to as laws 

C) refers to the different aspects of a country’s legal 
system and, hence, is difficult to explain 

D) has always been controversial and, therefore, 
cannot be interpreted accurately 

E) has a limited meaning that does not deserve any 
analysis or understanding 

 

 

 

 

 

 

 

 

 

 

58. As regards the use of the terms “law” and “laws”, 
the writer claims that ----. 

A) there needs to be a common approach among 
the lawyers of a country 

B) lawyers and the people outside the legal 
profession share the same view 

C) each country has a different approach because 
of its distinct legal system 

D) it is not lawyers but laymen who need to be more 
precise 

E) there is not much clarity since both terms are 
often confused 

 

 

 

59. As is emphasized in the passage, there can be no 
limit to ----. 

A) the political laws that constitute the totality of a 
country’s legal system 

B) the number of the laws in a country that are 
distinct from each other 

C) an analysis of a country’s law, however 
extensive the analysis may be 

D) what meanings and interpretations laymen can 
make of the laws of a country 

E) the variety of laws that can be included within the 
law of a country 

 

 

 

60. As can be understood from the passage, the laws 
of a country, ----. 

A) though varied and numerous, embody a 
common goal for the country’s peace and 
prosperity 

B) which lawyers are expected to interpret 
precisely, indicate the efficiency of the legal 
system 

C) whether understood properly or misinterpreted, 
are necessary for the well-being of society 

D) which can also be understood accurately by 
laymen, are seldom related to each other 

E) though separate and distinct from each other, 
are essentially interrelated 
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61. – 64. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Four years ago in 2003, when Paul Barrett first began 
planning an ambitious book on Muslims in America, 
who would have thought that the topic would still be 
of such urgent interest by the time it was published 
early this year? But, if anything, intervening events 
have made Barrett’s exploration of American Muslims 
more timely and important than ever. With the United 
States even more deeply embroiled in warfare in Iraq 
and Afghanistan, with sectarian conflict exploding 
within the Muslim world, with tensions high among 
Muslim populations in Europe, and with relations 
strained between some leaders of the Christian and 
Islamic religions, readers need as much information 
as they can get about Islam and its adherents. In his 
book, Barrett notes that, despite being targets of 
suspicion in the wake of the attacks of September 11, 
Muslims in America, as a group, offer a perfect 
illustration of old-fashioned American assimilation. 
Overall, they are prosperous, well-educated, 
politically active, and successful in business and the 
professions. 

 

 

 

 

 

 

 

61. It is clear from the passage that Paul Barrett’s 
book ----. 

A) presents a socially, politically and economically 
very positive picture of Muslims in America 

B) focuses completely on the political achievements 
of Muslims in America 

C) seems to present a somewhat cynical view of the 
way of life of American Muslims 

D) is mainly concerned with how the wars in Iraq 
and Afghanistan have affected American 
Muslims 

E) has failed to arouse any significant interest 
among American Muslim readers 

 

 

 

 

 

62. As one understands from the passage, in the 
aftermath of September 11, Muslims in America    
----. 

A) experienced a wide range of economic 
handicaps and political setbacks 

B) formed a group that ambitiously pursued their 
professional objectives 

C) began to resist full assimilation into American 
society and culture 

D) began, according to Barrett, to be regarded as 
potentially dangerous 

E) were involved in sectarian conflicts that divided 
them politically 

 

 

63. It is suggested in the passage that although 
Barrett’s book was published four years after its 
initial planning in 2003, ----. 

A) it has captured the attention of the reading public 
due to the events that took place during this 
period 

B) the facts that it relayed about Muslims in 
America had already been revealed to the 
reading public 

C) the war in Iraq was deliberately excluded from it 
because of the uncertainty about the outcome 

D) its predictions about the consequences of the 
American involvement in the Middle East were 
proven by the developments during this period 

E) it dwelt solely on a comparison of Christianity 
and Islam, leaving out a number of other 
important current issues 

 

 

64. According to the passage, there are several 
reasons ----. 

A) why the relations between the Christian and 
Muslim leaders in Europe have been broken 

B) that can be put forward for the American 
involvement in Iraq and Afghanistan 

C) for the sectarian conflicts that are taking place in 
Iraq and elsewhere in the Muslim world 

D) why readers should be attracted by any study, 
such as Barrett’s, related to Islam and Muslims 

E) for the war in Iraq, which has already increased 
tensions between the United States and Europe 
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65. – 68. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Kierkegaard was one of the most original thinkers of 
the nineteenth century in Europe. He wrote widely on 
religious, philosophical, and literary themes. 
However, his peculiar manner of presenting some of 
his leading ideas initially obscured their fundamental 
significance. He developed his views in strong 
opposition to prevailing opinions, such as certain 
metaphysical claims about the relation of thought to 
existence. He reacted against the ethical and 
religious theories of Kant and Hegel. Moreover, he 
opposed the doctrines and ideas which were being 
advanced by some of his contemporaries like 
Feuerbach and Marx. His discussion of the human 
condition, which emphasizes the significance of 
individual choice, has arguably been his most striking 
philosophical legacy, particularly for the growth of 
existentialism. 

 

 

 

 

 

 

 

 

65. It is clear from the passage that, in view of his 
focus on the question of individual choice, 
Kierkegaard can be regarded as ----. 

A) the only thinker in the nineteenth century who 
was concerned with metaphysical matters 

B) a follower of Kant and Hegel, whose ethical and 
religious ideas inspired him greatly 

C) the philosopher who led the way for the 
development of existentialist philosophy 

D) the philosopher who explained the religious and 
philosophical aspects of human existence 

E) a major thinker who influenced his 
contemporaries, including Feuerbach and Marx 

 

 

 

 

 

 

66. It is pointed out in the passage that much of 
Kierkegaard’s most striking writings ----. 

A) restate the views and theories which prevailed 
and were commonly shared in his time 

B) were based on the ethical and religious theories 
that had been formulated during earlier centuries 

C) were widely read and discussed by his 
contemporaries in Europe in the nineteenth 
century 

D) are limited to topics related to religion and 
philosophy 

E) deal with the idea of individual choice 

 

 

67. It is suggested in the passage that because 
Kierkegaard expressed his major ideas in an 
unusual personal way, ----. 

A) their essential importance was not recognized at 
first 

B) he was widely appreciated and fully understood 
by his contemporaries 

C) he immediately became famous as a philosopher 
in nineteenth-century Europe 

D) they were very influential on other philosophers, 
including Feuerbach and Marx 

E) most thinkers in Europe sensed that he was 
formulating a new philosophy 

 

 

68. The point is made in the passage that 
Kierkegaard ----. 

A) approved of certain metaphysical arguments 
concerning the relation of thought to existence 

B) relied heavily on Kant and Hegel for the 
development of his own philosophy 

C) was a thinker, some of whose ideas were 
unusual for his time 

D) clearly defined what existentialism meant for a 
full understanding of human existence 

E) benefited a great deal from the philosophical 
legacy of his predecessors 
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69. – 72. soruları aşağıdaki parçaya göre 
cevaplayınız. 

We have all heard people from other countries 
described in very general terms. For instance, it has 
been said that “Germans work hard” and “Americans 
are friendly”. Such generalizations or stereotypes are 
very crude, and common sense tells us that not all 
Germans work hard and not all Americans are 
friendly. At the same time, there appears to be some 
truth in these generalizations since people from 
different countries share different characteristics. 
What these crude statements acknowledge, however, 
is that people from different countries have distinctive 
cultures and social customs. A society’s culture 
includes its customs, values, beliefs, ideas and the 
artifacts it produces. Attitudes towards such things as 
work, leisure, wealth, the role of women, and the 
value of education in one society’s culture might be 
significantly different from the attitudes and values 
found in another society’s culture. This is also the 
case regarding attitudes found in different countries 
towards politics and the political system. 

 

 

 

 

 

 

 

69. It is stressed in the passage that each country      
----. 

A) attaches much importance to its own social 
customs and educational system 

B) has developed a political system which may 
differ from its social and cultural values 

C) can be identified through its people’s attitudes 
towards other countries and peoples 

D) has its own special characteristics and, hence, is 
culturally and politically unlike the others 

E) shares with other countries a wide variety of 
values and attitudes 

 

 

 

 

 

 

70. In the passage, the writer points out that while on 
the one hand, describing other countries or 
peoples in general terms may be misleading, on 
the other, ----. 

A) generalizations of this kind may be true to some 
extent 

B) one must make an effort to appreciate and 
understand their culture 

C) it is important for us to have a friendly attitude 
towards them 

D) we must do our best to ignore the differences 
among them 

E) such generalizations are useful especially in 
understanding the value of education 

 

 

 

71. The writer suggests that political attitudes ----. 

A) in a country are fundamentally influenced by 
education 

B) vary greatly from country to country 

C) in a society have nothing to do with its cultural 
values 

D) towards women in society must be constructive 

E) in a country cannot be differentiated from the 
attitudes towards work and leisure 

 

 

 

72. The writer states that the customs, values, and 
beliefs of a society ----. 

A) may have some impact on its educational 
system 

B) are a poor guide to the nature of that society 

C) should be excluded from its political system 

D) must always uphold the role of women in that 
society 

E) are among the elements that make up its culture 
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73. – 76. soruları aşağıdaki parçaya göre 
cevaplayınız. 

The way in which British people view Britain’s role in 
the world is still influenced by its past. Today Britain 
is an important regional power, but in the recent past 
it was a world power. Until World War II, Britain ruled 
the largest empire that the world has ever known. 
Incredible as it may seem today, during the 1920s, 
almost one-fifth of the world’s population lived under 
British rule. But the empire disappeared rapidly 
during the 1940s, 1950s and 1960s as the colonies 
that had made up the empire gained their 
independence. In the aftermath of the empire, British 
leaders were not very successful in adapting to play a 
much smaller part in world affairs. However, Britain’s 
allies made it clear that they no longer saw Britain as 
a major force in world politics. The “special 
relationship” which was said to exist between Britain 
and the United States weakened as other European 
countries, particularly Germany, recovered after 
World War II. So, whereas London had been 
recognized by American leaders as the “capital” of 
Europe during the 1940s and the 1950s, Bonn was 
seen as the new capital of Europe during the 1960s. 

 

 

 

 

 

 

 

 

73. The point is made in the passage that, during the 
period following World War II, ----. 

A) London and Bonn were equally regarded by the 
world as the major political centres of Europe 

B) the American attitude towards Britain was still 
one of admiration and strong cooperation 

C) the Americans followed a policy of neutrality 
towards Britain and Germany 

D) Britain lost the empire and so ceased to be a 
leading power in the world 

E) Britain and the United States formulated a set of 
new policies to strengthen their relationship 

 

 

 

 

74. The writer claims that British people ----. 

A) do not share the policies adopted by other 
European countries towards the United States 

B) attach great importance to relations with the 
United States 

C) think of Britain’s place in world politics today in 
terms of their imperial past 

D) still regard the former colonies, along with the 
United States, as their lasting and strongest 
allies 

E) no longer think that the political legacy of their 
empire has any significance whatsoever 

 

 

 

75. The writer asserts in the passage that the 
demographic and territorial size of the British 
Empire ----. 

A) remained unchanged right into the 1960s, when 
some colonies began to gain their independence 

B) was the cause of much hostility from Germany 
and other European countries 

C) led American leaders into thinking that Germany 
was not a major force in world politics 

D) was an indication of the fact that Britain had a 
large number of colonies seeking independence 

E) was so vast that no other empire in world history 
was ever a match for it 

 

 

 

76. In the passage, the writer ----. 

A) depicts a very distorted picture of Britain’s 
colonies in their struggle for independence 

B) points to the fact that Britain is still an important 
European power 

C) explains how American political leaders 
deliberately undermined Britain’s relations with 
Germany 

D) approves the political strategies formulated by 
British leaders in the aftermath of World War II 

E) discusses the economic reasons for the decline 
of the British empire 
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77. – 80. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Developing markets, historically the domain of 
hyperinflation and political manipulation, now enjoy 
high surpluses, thanks to record commodity prices 
and severe fiscal discipline. Since 2001 these 
economies have achieved three times the average 
annual per-capita economic growth of their 
developed counterparts and now represent a quarter 
of global output. Stocks in emerging markets are 
causing much excitement among investors. However, 
too much excitement invites peril. Emerging markets 
have undeniably changed in the past decade, but 
lately they are looking overgrown, and even a minor 
crisis could send them tumbling. And while the 
potential triggers for a fall have changed, they are still 
there. As economies in the developing world get 
stronger, governments are getting more assertive 
and meddling with both companies and neighbouring 
countries, increasing political risk. 

 

 

 

 

 

 

 

77. It is clear from the passage that, over the last few 
years, ----. 

A) the economies of the developed countries have 
had so much growth that its effects on emerging 
markets have been harmful 

B) stock prices in emerging markets have been 
relatively stable due to very harsh fiscal 
measures introduced by governments 

C) inflation rates in the developing world have 
shown an upward trend because of political 
manipulation and poor economic performance 

D) emerging economies have performed so well 
that their growth has been much higher than the 
growth achieved by the developed world 

E) governments of developing economies have 
taken every measure in order to avoid the kind of 
political crisis that may trigger an economic 
collapse 

 

 

 

 

78. As one learns from the passage, despite their 
current economic success, ----. 

A) emerging markets are not trusted by companies 
since there is always the possibility of political 
manipulation 

B) developing economies are still far from 
overcoming hyperinflation 

C) governments in the developing world have 
maintained their fight against hyperinflation 

D) developed economies remain unconcerned 
about the potential of a severe crisis 

E) the countries in the developing world have 
traditionally suffered from hyperinflation 

 

79. It is emphasized in the passage that although 
investors are excited by the stock market 
situation in emerging markets, they ----. 

A) are always prepared for a risk of hyperinflation 
which could send stock prices tumbling 

B) know that these markets now represent a quarter 
of global output 

C) must be aware of the fact that these markets can 
be risky since they are potentially very fragile 

D) feel that severe fiscal discipline introduced by 
governments puts their investments at high risk 

E) are very critical of governments’ meddling with 
companies and neighbouring countries 

 

80. According to the passage, as the economic 
strength of the developing world increases, one 
of the drawbacks this leads to is that ----. 

A) prices of commodities and stocks reach higher 
levels, opening the way to hyperinflation and 
political manipulation 

B) governments begin to interfere in the affairs of 
their neighbours and, hence, may cause political 
risk 

C) governments get into fierce competition with 
each other in order to double their share in 
global output 

D) investors begin to be seriously concerned about 
the future of stock and commodity prices 

E) the annual per-capita growth slows down owing 
to high surpluses and record commodity prices 
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